Answer to Round 4 Data Question 31 for
RFP Number 2013-CMFD-01

Question 31: Row 46: Indicates that "0 = RX-REFILL is a yes/no indicator identifying the record
Original Claim, >0 Refill of existing prescription” | as a refill or original claim (this field occurs in both
begins at column 383, which contains only record layouts)

alphabetical values (ex: "N"). Is this intentional

(i.e N = original prescription and Y = refill) or a RX-REFILL-NBR is an integer 0-5 indicating which

data entrv error? refill (O=original) (this field occurs only in the “claims
y error: 201107 thru 201309” layout)




